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Maths • Time & Work

2 person work
A = x, B = y,  A + B = ?

1. A alone can complete a task in 3 days and B alone
can complete the same task in 6 days. In how many
days can A and B complete it together ?

A 3 B 6 

A B 

(A) 6 (B) 1 (C) 3 (D) 2

2. A can do a work in 
2

6
3

 days while B can do

same work in 
2

16
3

 days. How long (in days)

will it take if they do the work together?

A 
2

6
3

 B 

2
16

3
 

(A) 
16

4
21

(B) 
16

5
21

(C) 
17

4
21

(D) 
17

5
21

3. A can do a work in 37 days and B in 111 days.

If they work on it together, then in how many

days will they be able to do the work?

A 37 B

111 

(A) 
1

26
4

(B) 
3

27
4

(C) 
3

29
4

(D) 
1

30
3

2 person work
A = x, B  = y, A and B work for some

time together find A + B = ?

4. A can do a work in 72 days and B in 90 days.

If they work on it together for 10 days, then

what fraction of work is left ?

A 72 B 90 

10 

(A) 
3

4
          (B) 

1

4
(C) 

4

5
          (D) 

5

6

5. A can do a work in 
1

33
3

 days and B in 
2

66
3

days. If they work on it together for 10 days,

then what fraction of work is left?

A 
1

33
3

 B, 
2

66
3

10

(A) 
11

20
          (B) 

13

20
(C) 

1

4
        (D) 

7

4

2 person work
A = x, B  = y, A and B work for some

time together find the fraction of re-

maining = ?

6. P can do a work in 77 days and Q can do the
same work in 91 days. If they work on it to-
gether for 7 days, then the fraction of the work
that is left is :

P 77 Q 91

7

(A) 
117

143
(B) 

121

143

(C) 
119

143
(D) 

123

143

1
TYPE
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Mother's Maths
2 person work
A = x, B = y, A and B work for some

time together find the % of remain-

ing = ?

7. A can complete a work in 20 days and B can

complete the same work in 25 days. If both

of them work together, then in 3 days what

percent of the total work will be completed?

A B

(A) 9 (B) 12

(C) 25 (D) 27

8. A can complete 50% of a job in 9 days and B

can complete 25% of the job in 9 days if they

worked alone. If they worked together how

much of the job (in %) can they complete in 9

days ?

A 9 50% B 9

25% 

(% )

(A) 80 (B) 90

(C) 75 (D) 100

9. Amar can complete a work in 7.5 days and

Raman can complete the same work in 12.5

days. If both of them work together, then in

4 days what percent of the total work will

be completed?

7.5

12.5

(A) 82.5% (B) 80.1%

(C) 75.5% (D) 85.33%

10. A can finish a work in 18 days and B in 36

days. If they work on it together for 9 days,

then what percent of work is left ?

A 18 B 36 

9 

(A) 33.3 (B) 20

(C) 75 (D) 25

2 person work
A can do p /q  part in x days

B can do a / b part in y days.

Find A + B = ?
11. A can do 1/5th of a work in 4 days 1/6th of

the same work in 5 days. In how many days

they can finish the work, if they work to-

gether?

A 1/5 4 B

1/6 5

(A) 12 (B) 30

(C) 20 (D) 15

12. M can complete 3/4 part of a work in 12 days

and N can complete 2/7 part of the same

work in 8 days. In how many days will both

complete 11/14 part of the total work?

M 3/4 12 N

2/7 8

11/14

(A) 8 (B) 9

(C) 7 (D) 6

13. A can do 2/5 of a work in 12 days while B

can do 
2

66
3

% of the same work in 16 days.

They work together for 10 days. B alone will

complete the remaining work in :

A 2/5 B 

2
66

3
% 16 10 

B 

(A) 6 days (B) 4 days

(C) 8 days (D) 9 days

14. A can do 75% of a job in 18 days and B can

do 25% of the job in 12 days. If they work on

it together, in how many days can they do

75% of the job?

A B

(A) 16 (B) 8

(C) 20 (D) 12
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A/B = x, A + B = y, A/B = ?

15. A can do a work in 20 days. A and B can do it

in 12 days together. In how many days B can

do it alone?

A 20 A B 

12 B 

(A) 25 (B) 20

(C) 30 (D) 15

16. A and B together do a job in 6.75 days and A

could do the job in 9 days if he worked alone.

How many days would B take to do the job if

he worked alone?

A B A

B

(A) 27 (B) 18

(C) 24 (D) 21

17. A and B together can do a piece of work in

1
33

3
 days. A, alone can do it in 

2
66

3
 days. In

how many days B alone can do the work ?

A B
1

33
3

 

A 
2

66
3

B

(A) 
2

61
3

 days (B) 
1

55
3

 days

(C)
2

66
3

 days (D) 
1

33
3

 days

18. A and B working together can do 30% of the work

in 6 days. B alone can do the same work in 25 days.

How long will A alone take to complete the same

work ?

A B 30%, 6 

B 25 

A 

(A) 75 days/ (B) 60 days/

(C) 80 days/ (D) 100 days/

19. A and B can complete a task in 25 days. B

alone can complete 
1

33 %
3

 of the same task

in 15 days. In how many days can A alone

complete 
4

15
th of the same task ?

A B 25 B 

1
33 %

3
 15 

A 
4

15
(A) 15 (B) 10
(C) 18 (D) 12

A = x, B = y, C = z, A + B + C = ?
20. A can do a work in 6 days. B can do it in 8

days and C can do it in 12 days. In how many
days they can do it together?

A 6 B 8

C 12

(A) 
2

2
3

        (B) 5 (C) 
3

2
8

      (D) 4

21. A, B and C can finish a job working alone in
2.4, 4.8 and 3.2 days respectively. In how
many days they can finish the job if they
worked together?

A, B  C 2.4, 4.8 

3.2 

(A) 
17

15
(B) 

21

17

(C) 
16

15
(D) 

13

11

22. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and
C can do the same work in 36 days. In how
many days will they alone the complete work
?

A B 

75% 18 C 36

(A) 
124

11
 days/ (B) 

118

11
  days/

(C) 
120

11
 days/ (D) 

116

11
days/
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23. A and B can do a job in 10 days respectively.

They worked together for two days, after which
B was replaced by C and the work was finished
in the next three days. How long will C along
take to finish 60% of the job ?

(CPO 23-10-2020 S-I)

A B 10 5 

B 

C C 

60% 

(A) 30 days/ (B) 25 days/

(C) 18 days/ (D) 24 days/

24. X can do a work in 3 days, Y does three times
the same work in 8 days, and Z does five times
the same work in 12 days. If they have to work
together for 6 hours in a day, then in how much
time can they complete the work?

X Y 

Z

(CPO 23-10-2020 Shift II)

(A) 4 hours (B) 5 hours
(C) 5 hours 20 minutes
(D) 4 hours 10 minutes

A + B = x, B + C = y, C + A = z,

A + B + C = ?
25. A and B can do a work in 30 days, B and C can

do it in 36 days and C and A can do the same

work in 45 days. In how many days A, B and C

can do this work together ?

A  B 30  B

 C 36  C   A 

45 A, B  C 

(A) 24 (B) 25

(C) 20 (D) 30

26. A and B can do a work in 12 days, B and C can

do the same work in 15 days & C and A can do

it in 20 days. In how many days they can do it

separately?

A B 12 B 

C 15 C A

20

(A) 30, 20, 60 (B) 30, 40, 50

(C) 40, 60, 80 (D) 15, 45, 30

27. A and B can do 
2

5
 of work in 12 days, B and

C can do 
2

16
3

% the same work in 10 days &

C and A can do 
13

30
in 13 days. In how many

days A, B and C can do this work together ?

A B 
2

5
12 

B C 
2

16
3

% 10

C A 
13

30
13 

(A) 24 days (B) 25 days
(C) 36 days (D) 20 days

A + B = x, B + C = y, A + B + C = z,

A/B/C = ?

28. Working together A and B can do a job in 40
days, B and C in 36 days and all three together
in 24 days. In how many days can B alone do
the job?

A B B 

C 

B 

(A) 60 (B) 90
(C) 72 (D) 120

29. If A, B and C together do a job in 3 days, A and

C together do the job in 4.5 days and B and C

together do the job in 5.5 days then in how

many days can C alone do the job?

A, B C 3 A C 

4.5 B C 

5.5 C 

(A) 
91

7
(B) 

95

4

(C) 
99

7
(D) 

98

6
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A = x, B = y, C = z, D = w,

A + B + C + D = ?

30. A can do a work in 12 days. B can do it in 24

days and C can do it in 36 days and D can do it

in 72 days. In how many days they can do it

together?

A 12 B 24

C 36

D 72 

(A) 6 (B) 5

(C) 3 (D) 4

31. A can do a work in 24 days. B can do it in 8
days and C can do it in 12 days and A, B, C and
D can do it in 2 days. In how many days D can
do it only?

A 24 B 8

C 12

2 D 

(A) 6        (B) 5          (C) 3      (D) 4

32. A can do a work in 
2

14
7

 days. B can do it in

2
16

7
days and D can do it in 

1
33

2
 days and A,

B, C and D together can do the work in 5 days.
In how many days C can do it?

A 
2

14
7

B 

2
16

7
D 

1
33

2
 

A, B, C D 5 

C 

(A) 25        (B) 21          (C) 20      (D) 40

33. Working together A, B and C can finish a piece
of work in 3 hours A finishes the same work
in 8 hours, B finishes it in 6 hours. How long
will it take for C alone to finish the same work?

A, B  C  3 

 A 8 

B 6 C 

                 [CHSL 2020]

(A) 25 hr/ (B) 15 hr/

(C) 18 hr/ (D) 12 hr/

34. A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together
for 4 days. C alone completed the remaining
work in 8 days. A, B and C together will com-
plete the same work in?

A B, A 25%

4 C 

8 A, B C

                [CGL 2020]

(A) 
1

4
2

days/ (B) 
1

6
2

 days/

(C) 5 days/ (D) 4 days/

35. Sandeep do (¼)th of work in 10 days, Kapil
can do 40% of work in 15 days and Devkaran
can do (1/3)rdof work in 13 days and
RajKumar can do 37.5% of work in 17days.
Who is less efficient?

10  (¼) 15

40% 13 

 (1/3) 17 

37.5% 

(A) Sandeep/ (B) Kapil/

(C) Devkaran/ (D) Rajkumar/
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Solutions
1. (D)      

Total work = 6 units

Days = 
6

2 1
= 2 days

2.(A) A  
2

6
3

 days

B 
2

16
3

 days

      

(A+B) one day work = 15 + 6 = 21

Time = 
100

21
= 

16
4

21
days

3.(B) 111 Total work

A — 37 — 3

B — 111 — 1

(A + B)’s Days = 
111

4
 = 

3
27

4

4.(A)
5

4

A

B

72

90
360

1 day work = 9

10 days work = 90

Work done = 
90 1

360 4

Work remaining = 
3

4

5. (A) 

(A + B) 10 days work = 9 × 10 = 90 unit

Fraction of work left = 
110 11

200 20

6. (C)

P + Q — 7 days work = 24 × 7 = 168

Left work = 
1001 168

1001
=

833

1001
=

119

143

7. (D) Work 100

A—20D—5

B—25D—4

= 9

= 27

 27% of the work will be completed.

8. (C) A's time  9 days — 
1

2
 work

B's Time 9  days — 
1

4
work

      A 18

      B  36

2

1

36

1 day work = 3

9 day work = 27

% work done in 9 days = 
27

36
× 100 = 75%

9. (D)

Work done by both in 4 days

= 32 × 4 = 128 unit

% of work completed = 
128

150
×100

= 85.33%

10. (D) W = 36

A — 18 — 2

B — 36 —1

3 × 9 = 27

Remaining work =
9

100
36

= 25%

11. (A) A does 1/5 of work in   4 days

  A does whole work in    20 days

B does 
1
6 of work in   5 days
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  B does whole work in    30 days

  

2

3
60

A      20

B      30
(A+B) one day work = 3 + 2 = 5

      Total work = 60

 Time
60 =12 days
5

12. (A)

11

14
 of work completed by them

11112 11214 8 days
11 14

13. (A) A can do 
2

5
 of a work in = 12 days

A can do the complete work in = 12×
5

2
 = 30

days

B can do 
2

3
(66

2

3
%) of a work in = 16 days

B can do the complete work in

= 16 × 
3

2
  = 24 days

 A 30

B 24

4
120

5

10 days of work (A + B) = 9×10=90 unit

Remaining work = 120 – 90 = 30 unit

B alone can finish the remaining work in

= 
30

5
 = 6 days

14.  (D) “A” can do 75% of a job in = 18 days

“A” can do complete job = 24

“B” can do 25% of this Job in = 12 days

“B” can do complete Job in = 48 days

Both can do the job = 
1 1

24 48

  
 

=
2 1

48

 
 
 

 = 16 days

Both can do 75% of the job = 16×
75

100

      = 12 days

15.(C)

B can do = 
60

2
= 30 days

16. (A) Total work = 27

A + B — 6.75 – 
27

4
 – 4

A — 9 — 3

B can do the work = 
27

1
= 27 days

17.  (C)

B complete the work = 
200

3
=

2
66

3
days

18. (D) LCM = 100

= 
100

6
30

 = 20 days

5  A + B = 20

4  B = 25

A = 
100

1

A = 100

19. (A) B  
1

3
 15 days

 B  45 days

 A + B  25 days

Using formula to calculate work done by A

which is 
X Y

Y X

 A  
25 45

20

4

15

25 45 4
A

20 15  = 15 days

20. (A) 
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A+B+C can do the work = 
24

9
 days = 

2
2

3

21. (C) A        2.4 — 4

B         4.8 — 2

C        3.2 — 3

Total work = 9.6

together =
9.6

9
=

16

15
 days

22. (C) A

B

C

45

36

18

3
× 4 = 24 1080

24
45

30

A
Time

 = 
1080

99
 = 

120

11
 days

23. (C)

2 days work done = 2 × 3 = 6

C's efficiency = 
4

1 c
= 3

= 4 = 3 + 3C
1 = 3C

C =
1

3

C alone can do = 
60 10

1100
3

= 
60 10

10
× 3 = 18 days

24.(C) x = 3     w
y = 8   3w
z = 12  5w

=
w 3w 5w

3 8 12

= 
8w 9w 10w 27

w
24 24

=
24 6

27
 = 5 hr 20 minutes

25. (A)

A + B + C can do

the work = 
360

30
×2

= 24 days

26. (A)

A + B + C can do

 = 
60

12
× 2 = 10

A can do = 
60

2
= 30

B can do = 
60

3
 = 20

C can do = 
60

1
= 60

27. (A) A + B — 
2

5
— 12 = 30

B + C — 
1

6
— 10 = 60

C + A  — 
13

30
— 13 = 30

A + B + C can do the work = 
180

15
×

2 = 24 days

28.(B) 

      B can do = 
360

4
= 90 days

29.(C)    
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     B efficiency = 11

     C efficiency = 7

     A efficiency = 15

C can do the work alone = 
99

7
days

30. (A) 

A + B + C + D can do the work = 
72

12

= 6 days

31. (D) A     24

B      8

C     12
24

A + B + C + D      2

1

3

2

12

D can do the work = 
24

6
 = 4days

32. (A)

A     

B      

D     

100

A + B + C + D          5

2
14

7
2

16
3

1
33

3

100

7
50

3

100

3

=

=

=

=

7

6

3

20

A + B + C + D  = 5

C = 
100

4
 = 25 days

33. (B) 

C = 8 – 1 = 7

C    
24

1
 = 24 hr

34. (C) E

A  15 8

B  10

ATQ,

     T.W. = 4(A + B) + 8(C) = 120

              = 4(1B) + 8(C) = 120

              8(C) = 120 – 72 = 48

Efficiency of C = 6

 Time taken by A + B + C = 
T.W.

Efficiency of A B C

= 
120

8 10 6
 =  

120

124
 = 5

35. (D) Sandeep  40 Least Eff. = Rajkumar

Kapil  37.5 Most Eff. = Kapil

Devkaran  39

Rajkumar  
136

3

40% = 
2

5
    15

           1    
75

2


